Roboway" for UR

=

—__
RIS, o

r f,fl""“b’ » r

I-15 | www.cpsystem.co.kr




>>UR.BNAD for UNIVERSAL ROBOT

ROBO-KIT 22/28 can be specially applied to Universal Robot or compact robot to protect outside cables/hoses.

UR.BAND
for UNIVERSAL ROBOT

bracket
only

s steel
band

Upper part

UR.BAND with ROBO-KIT 22/28

- D

>>UR.BNAD size table only for UNIVERSAL ROBOT

Upper part ?85
® URS.BAND 0 H 3100
ower pa
P ROBO-KIT 22/28
Upper part 086
e UR10.BAND
Lower part 108

% UR.BAND consists of brackets and steel band.

>> Ordering (RoBO-KIT should be ordered separately.)
URS5.BAND 075 : 2EA

Ilnner Dlameter (Order after check the upper and lower robot body diameter)

UR. band for UNIVERSAL ROBOT (UR5 / UR10 Bracket and steel band included.)

CP SYSTEM CO. LTD. I 16



R
ROBO-KIT with  UNIVERSAL ROBOTS Part List

27 Oct, 2017 Overseas sales dept.

CONTENT URS URI0
PART NAME PART NO QTY UNIT PART NAME PART NO QTY UNIT PART NAME PART NO QTY UNIT
e STEEL BAND S-3 2|EA STEEL BAND S-4 2|EA STEEL BAND S-4 2|EA
s (UPPER PART) (UPPER PART) (UPPER PART)
I"
E—
— STEEL BNAD S-3 2|EA STEEL BAND S-5 2|EA STEEL BAND S-5 2|EA
(LOWER PART) (LOWER PART) (LOWER PART)
I"
E—
BRACKET (UPPER |UR.BRK-54 2|EA BRACKET (UPPER |UR.BRK-84 2|EA BRACKET (UPPER |UR.BRK-84 2|EA
~ PART) PART) PART)
BRACKET (LOWER|UR.BRK-66 2|EA BRACKET (LOWER|UR.BRK-108 2|EA BRACKET (LOWER|UR.BRK-108 2|EA
~ PART) PART) PART)
SILICON PAD 20 x 500 4(EA SILICON PAD 20 x 500 4|EA SILICON PAD 20 x 500 4|EA
I ROBO-KIT RKS-22/28 2|EA ROBO-KIT RKS-22/28 2|EA ROBO-KIT RKS-22/28 2|EA
' ROBO-KIT RKD-22/28 2|EA ROBO-KIT RKD-22/28 2|EA ROBO-KIT RKD-22/28 2|EA
E\. ROBO-KIT RKC-22/28 4(EA ROBO-KIT RKC-22/28 4|EA ROBO-KIT RKC-22/28 4|EA
: ROBO-KIT RKSC-22/28 2|EA ROBO-KIT RKSC-22/28 2|EA ROBO-KIT RKSC-22/28 2|EA
| ROBO-KIT RKR-22/28 4(EA ROBO-KIT RKR-22/28 4|EA ROBO-KIT RKR-22/28 4|EA
! ROBO-KIT RKTP22/28 2|EA ROBO-KIT RKTP22/28 2|EA ROBO-KIT RKTP22/28 2|EA
ROBO-KIT VCG-22/28 2|EA ROBO-KIT VCG-22/28 2|EA ROBO-KIT VCG-22/28 2|EA
CPSFLEX PAR/PAM 1M CPSFLEX PAR/PAM 1M CPSFLEX PAR/PAM 1M




WRENCH BOLT |M3 X 8 10{EA WRENCH BOLT [M3 X8 10{EA WRENCH BOLT [M3 X8 10|EA
WRENCH BOLT [M4 X 12 14{EA WRENCH BOLT (M4 X 12 14{EA WRENCH BOLT (M4 X 12 14|EA
LOCK NUT M3 10{EA LOCK NUT M3 10{EA LOCK NUT M3 10|EA
LOCK NUT M4 2|EA LOCK NUT M4 2|EA LOCK NUT M4 2|EA

tap, insert




Insatallation guide of UR.BAND for Universal Robot

1. 2.
Select installing position of Robo- kit Firstly, place silicon pad to the area

by considering moving condition of before attaching Robo-kit. Silicon is
ced for protecting scracth to robot's

Robot.

surface and slip
3.
Assi e UR. BRK where RKR and
C assembled to UR Robot's arm by
using steel band.
X User can use cable tie or velcro for
fastening Robo-kit instead of steel
band.

4.
Unlock cap of RKC of Robo-kit like
shown at left picture

6.

Place Ball joint area of RKS and RKD
to inside of RKC and close cap of
RKC like shown in the left picture.

7.

Finally, connect cable and hoses

to Robot gun.

X Users can adjust of location of,
Robo-kit and RKTP in accordarice with
moving condition of UR Rob6t.

%exible tube that RKS, RKD,
RKTP are attached to inside of RKC.

% Image of installed Robo-kit to UR
Robot

STEEL BAND RKC RKS
BRACKET RKR RKTP
SILICON PAD RKD RKSC

Wi~ = BOLT(M3), NUT(M3 X 10)
VCG L. ™ TUBE(PAR/PAM) W«(«(««;‘&, BOLT(MA), NUT(MAX 12)




